Gleichungen 2 (Losung)

1. Vereinfache und lose die Gleichungen.

a)9c -84=27c-3 b) 3(x - 3) = 2x -2
9c -84=27c-3 |+3 3x-9=2x-2 |+2
9c - 81=27c |- 9c 3x-7=2x |-3x
-81=18c |: 18 -7=-x |-(-1)
-45=c¢c 7=x

c)4(3x +1)=5x +18 d) -6x -5 = 14,2

-6x-5=14,2 |+ 5
12x+ 4=5x+18 |- 4

-6x =19,2 |: (-6)
12x = 5x + 14 |- 5x

-6x =19,2 |: (-6)

7x = 14 |:7
x =-3,2
X = 2
e) (x_4)2=x2+18 f) —4x—5:20—4x
5 4
x*—8x+16 =x*>+18 |- 16
—-4x—-5 _ 20-4x .5
x> —8x=x%+2|-% s =1 |
—8x=2|:(-8) ‘4"‘5:w|'4
1
x=-—7 4(—4x — 5) =5(20 — 4x)

—16x — 20 =100 — 20x|+20
—16x =120 — 20x|+20x

4x =120 |:4
x =30
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